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The Venncouver Olympics



OMO 2010 
Regional Competition or Practice Questions
Relay Competition –  Speed Skating
Setup and Answers

Setup

For the relay competition, each team is arranged around a single table to work as a group to solve the relay questions. 
3 or 4 tables are arranged in a row to help establish the relay route.
In front of each row is a verifier table where a verifier or two will sit to pass out the next question once a correct answer has been received or a pass has been taken by the team after 3 incorrect attempts.
The verifier will keep track of the attempts made by each team for each question. A separate sheet is needed for each team. Label teams in the row A, B, C, D on both question stack and attempt sheet to help keep things sorted. 
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To submit an answer the team must first “skate” the relay, by running and touching the back wall then running to the verifier’s table. Once their answer is accepted or rejected, they return to their team’s desk, completing the circuit. See the diagram above for route to be “skated”  by Team A. It is important that a circular route around the row of desks is well established to ensure smooth running of the relay.
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OMO 2010 
Regional Competition or Practice Questions
Relay Competition –  Speed Skating
Setup Continued

The verifiers will have a stack of stapled questions labelled A for team A, B for team B, etc. beginning with question 2, (the sample supplied is already labelled for team A.) When a team correctly answers a question or passes after 3 attempts, the top question is torn off and handed to the runner.
Teams may use the same skater every time or choose to rotate who does the ”skating” of the relay answer.
Marking
8 points will be awarded for each correctly answered question.  
	Question 1                                                                                               Ans
A clock rings out the time every hour, (at 9:00 am it rings 9 times and at 3:00 pm it rings 3 times) and on the half hour, it rings once. How many times does it ring in a 24 hour day?
Answer: 180



	Question 2                                                                                               Ans

How many        's    will balance 12      's?


Answer: 72


	Question 3                                                                                               Ans
Six friends share half of three pizzas. What fraction of a pizza does each friend receive.

Answer: 
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	Question 4                                                                                               Ans
A wooden cube that with edge length of 2 cm weighs 240 grams.  How much would a wooden cube with edge length of 6 cm weigh?
Answer: 6480 g


	Question 5                                                                                              Ans
A farmer grows 252 kilograms of apples. He sells them to a grocer who divides them into 5 kilogram and 2 kilogram bags. If the grocer uses half the number of 5 kg bags as 2 kg bags, then how many bags did he use in all? 
Answer: 84 bags


	Question 6                                                                                               Ans
Greg picked four numbers out of a hat. The average of the four numbers is 9. If three of the numbers are 5, 9 and 12, then what is the fourth number?
Answer: 10


	Question 7                                                                                               Ans
What number between 50 and 100 satisfies the following conditions?


If it is divided by 3 or 5 the remainder is 1.


If it is divided by 7, there is no remainder.

Answer: 91


	Question 8                                                                                               Ans
If 4 dogs eat 4 cans of dog food in 4 days how long does it take for 20 dogs to eat 20 cans of dog food.

Answer: 4 days


	Question 9                                                                                               Ans
What is the maximum surface area that can be obtained for an object constructed using twenty cube–a–links? (Assume each side is 2 cm)
Answer: 328 cm2


	Question 10                                                                                             Ans
At the 2010 Vancouver Olympics 54 different countries won a medal of some colour. Only 17 countries won at least one each of gold, silver, and bronze medals. 38 countries won bronze medals. 25 countries won both gold and silver medals. 24 countries won both gold and bronze medals. The number of countries that won both bronze and silver but not gold medals is 3 times the number of countries that won only silver medals. If 41 countries won medals of more than one colour, how many countries won only gold medals? 
Answer: 5


	Question 11                                                                                             Ans
What number is 9 times the sum of its digits?
Answer: 81


	Question 12                                                                                             Ans
Mary has $20.10 She goes to the mall and buys lipstick and then she buys shampoo, which is a third the price of the lipstick. She then spends half of what she has left on a purse, leaving her with $1.05. 

How much did the shampoo cost? 

Answer: $4.50


	Question 13                                                                                             Ans
The Happy Holiday Hotel is blessed with cheerful bedbugs.  In each single bed you can find 7 bedbugs.  In each double bed there are 13 bedbugs.  

If there are 106 bedbugs altogether, how many double beds are there?

Answer: 6


	Question 14                                                                                             Ans
Chris Bosh averages 16 points a game for the first 5 games of the season. How many points does he need to score in the sixth game to raise his average to 18 points a game.

Answer: 28


	Question 15                                                                                             Ans
I'm thinking of a number.

If I multiply it by 4 and then subtract 4, I get the same answer as I would if I multiplied it by 3 and added 11.

What is my number?

Answer: 15


	Question 16                                                                                            Ans
Bacteria in a petri dish double the area they cover every day. If the dish is covered after 16 days, on what day was only one quarter of it covered?

Answer: 14


	Question 17                                                                                             Ans
What is the minimum number of Canadian coins that I must have in my pocket to be able to make exact change for any amount less than $1?
Answer: 10


	Question 18                                                                                             Ans
At a cricket match,  a fifth of the spectators were in the member's enclosure, a quarter were in the public seats and the remaining 

22 000 were sitting on the grass around the oval.

How many spectators were there altogether?

Answer: 40 000


	Question 19                                                                                             Ans
Can you solve this magic square? 
Put the remaining numbers from 1 to 16 in the 16 small squares. The sum of the four numbers in each row, column and two diagonals must be the same. 
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	Question 20                                                                                             Ans
Germany
=
73


Tonga

=
47


Fiji

=
24


Azerbaijan
=
77


Break the code, and determine what Japan equals.

Answer: 32


	Question
	Answer Sheet Summary

	1
	180

	2
	72

	3
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	4
	6480 g

	5
	84 bags

	6
	10

	7
	91

	8
	4

	9
	328 cm2 

	10
	5

	11
	81

	12
	$4.50

	13
	6

	14
	28

	15
	15

	16
	14

	17
	10 or 9 if allowing a 50 cent piece

	18
	40 000

	19
	Left to right, top to bottom 6, 10; 9, 5; 15; 13, 16

	20
	32





Back





Front











_1326449034.unknown

_1326449744.unknown

